22+O0—7H

~HER (842 mm)

el

Dimensions (mm)

GAD

=

2Z2bA—Yh—MAT Y (2-STROKE ENGINES FOR CAR MODEL)

Engine Dimensions Chart

m % |ltems A B © D E F G H J S
0.S. SPEED T1203 314 11 52.4 39 81.5 34.9 26 29.4 68 UNF1/4-28
0.S. SPEED R2103 37 21 65.6 45 91.2 44 31.6 335 75.6 UNF1/4-28
0.S. SPEED B2103 Type S 37 21 65.6 45 83.8 44 31.6 33.5 68.1 UNF1/4-28
0.S. SPEED B2103 Type R 37 21 65.6 45 96.9 44 31.6 335 81.2 UNF1/4-28
0.S. SPEED R21GT 37 21 65.6 45 102.1 44 31.6 335 86.5 UNF1/4-28
MAX-12TG Ver.I 314 11 52.4 39 86.8 349 25.4 29.4 73.3 UNF1/4-28
MAX-R21 37 21 65.6 45 91.2 44 31.6 335 75.6 UNF1/4-28
MAX-21XR-B Ver.I 37 21 65.6 45 102.2 44 31.6 33.5 86.6 UNF1/4-28
MAX-21XZ-B Ver.1 37 21 65.6 45 102.1 44 31.6 33.5 86.5 UNF1/4-28

2Z28A=9AY749—HIT>Y Y (2-STROKE ENGINES FOR HELICOPTER MODEL)

m A Items A B € D E F G H J S
MAX-32SX-H RING 38 15 75 45 76 53 30.3 455 60.6 UNF1/4-28
MAX-37SZ-H RING 38 15 75 45 76.5 53 30.6 455 61 UNF1/4-28
MAX-50SX-H RING Hyper 44 175 85.8 52 925 61 36 52.3 74 UNF1/4-28
MAX-55HZ Hyper 44 175 76.6 52 90.9 51.6 36 42.85 72.6 UNF1/4-28
MAX-55HZ-R 44 175 76.6 52 90.9 51.6 36 42.85 72.6 UNF1/4-28
MAX-105HZ 52 25 85.5 61 100.7 55.4 43 429 79.2 UNF5/16-24
MAX-105HZ-R 52 25 85.5 61 100.7 55.4 43 429 79.2 UNF5/16-24
MAX-105HZ-R Super6 52 25 87.5 61 100.7 57.4 43 44.9 79.2 UNF1/4-28

22 MAO—IRITHAT>Y Y (2-STROKE ENGINES FOR FIXED-WING AIRCRAFT)

L Items A B © D E F G H J) S
MAX-11AX 31.4 11.0 58.5 39 60.4 40.9 24.2 354 48.4 M5
MAX-11CZ-A 31.4 11.0 58.5 40 60.4 40.9 24.7 354 48.1 M5
MAX-15LA 33 14.4 63.7 40 61 39.5 24.8 30.8 48.5 M5
MAX-15LA-S 33 14.4 63.7 40 61 395 24.8 30.8 48.5 M5
MAX-25LAIl 36 14 66.6 44 74.5 46.5 29 39 60 UNF1/4-28
MAX-25FX1 38 15 75.6 46 75.5 53 30 45.5 60 UNF1/4-28
MAX-35AX 38 15 755 45 774 53 30.6 45.5 61.5 UNF1/4-28
MAX-46AXI 44 17.5 84.5 51 85.1 60.4 35 52 67.4 UNF1/4-28
MAX-55AX 44 175 85.3 51 90.5 60.4 36 52 72 UNF1/4-28
MAX-65AX 52 25 93.3 60 99.5 66.6 40 54.1 78.5 UNF5/16-24
MAX-75AX 52 25 94.5 61 1034 66.6 42.6 54.1 81.4 UNF5/16-24
MAX-95AX RING 52 25 94.5 61 1034 66.6 42.6 54.1 81.3 UNF5/16-24
MAX-120AX RING 58 25 100.2 67 109.1 70 46.5 B75 85.5 UNF5/16-24

4Z2+~O—YH
&R (842 mm)  Dimensions (mm)
F
! / )
S B
GAD E
AZMO—IRITHEBEIY VY (4-STROKE ENGINES FOR FIXED-WING AIRCRAFT)

m % ltems A B S D E F G H J S
FSa-561 44 17.5 102.3 51 101.7 59 34 49.3 84 UNF1/4-28
FS-62V 44 175 102.8 51 105.1 60 34.1 51.3 87.5 UNF1/4-28
FSa-721 45 20 103.6 54 108 59.5 36 49.5 90 UNF1/4-28
FS-95V 52 25 115.7 61 119 66.5 42.6 54 97.5 UNF5/16-24
FS-120SI 58 25 134.5 67 139.5 77 47 64.5 116 UNF5/16-24
FSa-155-P 58 25 127.6 67 138.6 77 47 64.5 114 UNF5/16-24

41




IIVY1 A& EH

ZRHE & R—hAIYIVTEE

AZMO—IRTHRA 2KBIVY Y (4-STROKE MULTI-CYLINDER ENGINES)

m % Items A B C D E F G H J S
FT-160 (Gemini-160) 68 56.5 285 196 120 50.5 63.5 54 — M5
FF-320 (Pegasus) 68 56.5 285 196 181.5 1125 125.5 76 62 UNF1/4-28
FR7-420 (Sirius7) 122 — — 230 158.5 — — — — UNF1/4-28
~HER (842 mm) SHER (842 mm)

Dimensions (mm) Dimensions (mm)
FT-160 FF-320

5

| S
o
~HER (842 mm) ~HER (842 mm)
Dimensions (mm) Dimensions (mm)
FR7-420 MAX-21XM Ver.I N
D

e o}
’
o oz%E
87

46

25
219
46

Si
ﬁo I
20

149.5
183
)1 ) 2"
GF2')—X~EE
~HER (842 mm) TER (842 mm)
Dimensions (mm) Dimensions (mm)
GF30
105~119
“ " 98~112
= Paaliiay
~ e STy
©
@ & ~ E
= o UNF 5/16-24 /4_—@.2 =l
o ©| e —
i /S|
UNF 5/16-24 2 & (,:‘ ®
<
O b
_q i 1] |
W::; @® @®
40 | 765 £9.1 49.4 41 786 1399 38 35| 35
L 1456 70 1185 70
83.7

42



GT/GGTYY—X IV I V1iEER

~HER (& mm) e HER (862 mm)
Dimensions (mm) 30”3:%% Dimensions (mm)
His
GT15 ER GGT10
| 0|
HIE0E!
o 7 o
o
103.3 105.4
87.8
21
)|
©
UNF5/16-24 @
10) —1
)
b <] @®  UNF1/4-28 L 5N
) | : 5]
o Y
& il =
358| 668 | 394 I .
142 275 60.4 42 |
51
543 25
~HER (862 mm) ~HER (862 mm) S0l
Dimensions (mm) Dimensions (mm) T
GT22 GGT15 B < |
jmlisi P e
B
2 ! o
&
s 105.4
42
w0l
g 2-M4 Y
§§ ﬂ )
< 5/16-24 UNF-2A ©
L 0 UNF5/16-24 @®
)|
o iy o
o) il |
. P
i @)
68.5 40 I Zw &
1795 35.8 66.8 | 39.4
142

~HEBR (842 mm)
Dimensions (mm)

GT33

~HER (862 mm)
Dimensions (mm)

GT15HZII

@
— 755
[7[7
8ol 2-M5
23
S
b 3 5/16-24 UNF-2A ] UNF5/16-24
S 8
0 N /N
| & =Zh\
37.7[340] 845 [404 | 4057/ 8
196.6 40.7] 40.7
~HER (842 mm) ~HER (842 mm)
Dimensions (mm) Dimensions (mm)
o o
N
43 39
4
40 21_21
3 4 2-M5 —
)
3l ¢ & ] =
8 = & a \=L2D)
3| o
o 2 9| A UNF5/16-24
~| ©| % D: @
E = ¥ S =l
= g 4-M5 S| &)
304 59.8 2
5 " o916 4555/ 27500 3838 32
38.8 127.6 976 130.6

43




FANRST—IR/BEYI1LIY—

P FORTHAZ saLvy— | e
MAX-11AX TL—51> : 8x4 Fo—F— ZK—Y : Txd. 7x5 871A 385
MAX-11CZ-A TL—51 : 8x4 No—F— ZK—Y : Txd. 7x5 871 370
MAX-15LA TL—51 : 8x4 hL—F— ZK—Y : 7x5-6. 8x4-5 871 370
MAX-15LA-S TL—0A> 1 8x4 AT ZR—Y : 8xd-6 871 37.0
MAX-25LA I TL—54> 96 hL—F—-ZK— : 9x5-6 E-2030 62.0
MAX-25FX I ZK—Y-ZAF >~ : 9x5-6. 9.5x5. 10x5 892 62.0
MAX-35AX ZK—Y : 10x6-7. 11x6. 12x6 E-3080 83.0
MAX-46AX I ZR—Y : 10.5x6. 11x6-8. 12x6-7 E-3071 108.0
MAX-55AX ZR— : 12x7-8. 13x6-7 E-3071 108.0
MAX-65AX w/E-4050 ZIR—Y : 12x6. 13x6-7. 14x6 E-4050 128.0
MAX-65AX W/E-4010A | AR—Y : 12x6. 13x6-7. 14x6 E-4010A 156
MAX-75AX ZR— : 13x8-10. 14x6-8 E-4040 178.0
MAX-95AX RING ZR— : 14x8. 15x6-8. 16x6-8 E-4040 178.0
MAX-120AX RING ZK—Y : 15x10-12. 16x8-10 E-5020 176.0

AZNO—IRITFRATY VY

g % FORTHAZ waLoy— | BT
FSa-561 ZR—Y- 25Tk 12x6-8. 13x6 AT —IL : 12x6-8. 13x6-7 F-4040 420
FS-62V 2= ZFUN  12x6-7. 13x6-7 AT —)L : 14x6 F-4050 44.0
FSa-721 2= ZRF R —)L  12x7-8. 13x6-8. 14x6-7 F-5030 54.0
FS-95V ZR—-ZFVN : 13x7-9. 14x6-8 A7 —)L : 15x6-8 F-5050 58.0
FS-120SI ZR—-ZFk : 13x11-13. 14x10-11 A7 —JL : 15x8. 16x6-8. 18x5-6 F-5020 922
FSa-155-P ZR—Y-ZFVN  16x8-12. 17x8-12 F-6020 95.0

AZNO—I TR SILFIIT—TIY

g % FORSHAZ
FT-160 (Gemini-160) ZIR—Y- 2T —)L : 16x8. 18x6-8. 20x6
FF-320 (Pegasus) ZR—Y -2 —)L 1 18x10-12, 20x8-10. 22x8
FR7-420 (Sirius7) ZIR—Y- 27 —JU : 22x10-12. 23x8-12. 24x8-12. 26x8

2Z2hO—I®|THER JO0—AVI>ITYYY GGTYU—X

g % TARTHAZX WA ggg)_
GGT10 2= 70 R —)L : 12x7-9. 13x6-8 E-3071 108.0
GGT15 2= - FHOE R —)L : 13x8-11. 14x8-10. 15x8 E-4040 | 1780

22 NO—SRATHE HY UV IVIY GTOY—X

g % FORSHAZ yaL— | o e
GT15 ZR—- 770 27—l 13x8-11. 14x8-10. 15x8 E-4040 | 1780
GT22 TL—5+4> : 15x10 RR—Y-ZF>k : 16x8. 16x10. 17x6. 17x8 E-5040 | 1326
GT33 TL—25+1> : 18x8 ZK—-ZF>k : 18x10. 18x12. 19x10. 20x8. 20x10 E-5030 | 1875
GT60 TL—5+1> : 22x8 AK—-ZFUk : 22x10. 23x8. 23x10. 24x8. 24x10 E-6020 | 1780
GT120T TL—2+A> 1 26x12.27x10 AR—Y-AF : 26x11-13. 27x9-12. 28x8-10

AZNO—SRATHE HYUYIVIY GFYU—X

g % FORTHAZ YL — g"gg;
GF30 TL—5+1> : 17x8 ZR—Y-FH0-Z7—Jb : 16x10-12. 17x8-10. 18x6W-8 F-6040 | 1130
GF40 TL—51> : 18x8 ZK—Y-FH0-Z7—J : 18x8-12. 19x8-10. 20x8-10 F-6040 | 113.0

44



* ¥ %

*

*

E—Y—HY1XK

Dimensions Chart

0 s"’”ﬂ D A %R (82 mm) Dimensions (mm)
717/ B
(4 F
K
/] 11 /57 i _
High Performance Brushless Molors I
N
ouw| = (¢
g S i
ﬁﬂﬁmf—9— HF G |HR
#iE Model A B C D E F | G|HF| HR| I J K L M N P Q R S
OMA-2810-1250 375|295 (9280| 17.5 |916.0| 20 | 20 | 7.0 7.0 | 23 | 285 [M5x0.8| 19.0 | 16.0 |240.0{@233.0 ©3.1 [M3x0.5| ——
OMA-2815-1100 425|345 |928.0| 175 |816.0( 20 | 20| 7.0 70 |23 | 285 [M5x0.8| 19.0| 16.0 [9#40.0{@33.0| @3.1 |[M3x0.5 ——
OMA-2820-950 46.5 | 38.5|928.0| 17.5 |#16.0| 20 | 20 | 7.0 70 |23 | 285 [M5x0.8| 19.0 | 16.0 |840.0{33.0| 3.1 |[M3x0.5| ——
OMA-3805-1200 455 | 30.5|937.0| 25.0 |@20.0( 3.0 | 1.0 [ 11.7 | 11.7 | 24 | 9.5 |M6x0.75| 25.0 | 25.0 |©50.0(243.0| 3.1 |M3x0.5|M3x0.5
OMA-3810-1050 50.5 | 35.5 |@37.0| 25.0 |20.0| 3.0 | 1.0 | 11.7 | —— | @4 | 8.5 |[M6x0.75| 25.0 | 25.0 [850.0(243.0| 3.1 |M3x0.5|M3x0.5
OMA-3815-1000-W| 55.5 | 40.5 |@¢37.0| 25.0 [220.0| 3.0 | 1.0 [ 11.7 [ 11.7 | 85 [@9.5 [M6x0.75| 25.0 | 25.0 [250.0|243.0| ©3.1 [M3x0.5|M3x0.5
OMA-3820-1200-W| 61.0 | 46.5 |937.5| 25.0 |222.0] 3.0 [ 1.0 | 115 | 11.5 | @5 | 9.5 |M6x0.75| 25.0 | 25.0 [250.0(243.0| @3.1 |M3x0.5|M3x0.5
OMA-3820-960 61.0 | 46.5 (837.5( 25.0|1@922.0| 3.0 [ 1.0 | 11.5 | ——| @5 | 9.5 |M6x0.75| 25.0 | 25.0 |@50.0|243.0| 3.1 [M3x0.5|M3x0.5
OMA-3825-750-W | 65.5 | 51.0 |@37.5| 25.0 |@22.0] 3.0 [ 1.0 | 11.5 | 11.5 | @5 | 9.5 [M6x0.75| 25.0 | 25.0 [¢50.0(243.0| 3.1 |M3x0.5|M3x0.5
OMA-5010-810 63.0 | 46.5 [650.0| 34.0 |@27.0| 40 [ 1.0 | 11.7 | ——| @6 | 9.0 |M8x1.0| 30.0 | 30.0 |268.0|258.0| 4.1 [M4x0.7|M3x0.5
OMA-5015-650 68.0 | 51.5 |950.0| 34.0 |@27.0] 40 [ 1.0 [ 115 |——| @6 | 9.0 [M8x1.0| 30.0 | 30.0 |¢68.0|258.0| @4.1 |M4x0.7|M3x0.5
OMA-5020-490 72.5|56.0 ([850.01 34.0 |@27.0| 40 [ 1.0 | 11.5 | ——| @6 | 9.0 |M8x1.0| 30.0 | 30.0 |@68.0|258.0| 4.1 [M4x0.7|M3x0.5
OMA-5025-375 78.0 | 61.5|850.0| 34.0 |927.0]{ 40 [ 1.0 [ 115 | —— | @6 [ 29.0 [M8x1.0| 30.0 | 30.0 (#68.0(258.0| 24.1 |M4x0.7|M3x0.5
KEERERTUE U . EERDDRFEICEDET,
| F—9—ZARvI&
B B B OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA-
2810-1250(2815-1100| 2820-950 [3805-1200|3810-1050(3815-1000-W[3820-1200-W| 3820-960 (3825-750-W| 5010-810| 5015-650 | 5020-490 | 5025-375
B % 14 14 14 14 14 14 14 14 14 14 14 14 14
E = g 51 66 80 76 102 134 160 160 195 234 295 350 405
U—RBE RE | mm 40 40 40 50 50 50 90 90 90 110 110 110 125
U—Ri#R X& 17AWG 17AWG 17AWG 17AWG 17AWG 17AWG 17AWG 17AWG 15AWG | @0.38x16 | 20.38x20 | 80.38x20 | 0.38x20
S mm 85 88 8i5) 85 85 a5 35 315} 815 4.0 4.0 4.0 4.0
ENREE \' 11.1 11.1 11.1 11.1 11.1 11.1 11.1 11.1 14.8 14.8 14.8 222 25.9
ERERES) | A 14 18 22 20 30 B 40 40 40 45 50 50 50
RKRER(5%) 20 25 30 30 50 60 75 70 75 80 85 90 90
EETER A 0.6/10V 0.7/10V 0.9/10V 1.1/10V 1.1/10V 1.1/10V 1.9/10V 1.7/10V 1.5/10V 1.8/10V 1.5/10V 1.5/10V 2.0/10V
Ll mQ 94.0 69.0 72.0 65.1 51.3 36.5 21.4 26.7 31.0 245 20.0 23.0 275
BB 9790A| uH 30.0 23.0 24.0 52.7 316 238 11.5 183 21.0 27.4 25.0 &80 43.0
BRAME % 755 F 80Xt 80 £ 80k 855k 855k 855 80 L 85 855k 855 k 855 k£ 8501k
KV{E rpm/V 1250 1100 950 1200 1050 1000 1200 960 750 810 650 490 BI5)
BEH T 22 16 14 34 22 16 10 12 12 20 16 16 16

@ EE(OXV5&U—FR)

700-80075ABENYITY—5HA 3D/F3CHT FYLRAE—5—

OMH-5825-520

%R (842 mm) Dimensions (mm)

40

54

9. 213 97

il

| E—9—Y1XR/ARVIR

IE B Bz | OMH-5825-520 | OMH-5830-490
4 &' mm 258 258
AERSE mm 54 62
B 10 10
Vv 7MER mm 26 26
YIRS mm 40 30
E B g 525 600
U—Rig RS mm 110 100
U—Rig K& 20.38x14 20.38x14
ARI YN mm TE=L TR
EREE \ 44.4 444
ERER (359) A 100 100
BXER (58) A 150 150
EEEER A 2/10V 3.1/10V
THRIEH mQ 15 14
HEAv599v2 | uH 26 25
BRAME % 85 k 90 E
KVf# rpm/V 520 490
HEY T 12 12

45




F3AmBBAE—Y—999>a>/91LIME—5—

| OMR-4043-165

%R (842 mm) Dimensions (mm)

Mounting holes
dividing a circle into 8

Mounting holes VNI

dividing a circle into 8 8%4>-M3x0.5

TR P.C.D. 70

8%4)-M3x0.5 AR Mounting holes

P.C.D. 62

7AYhUV B ERF
with the Front Mounting Plate-B

4%4%-M3x0.5 dividing a circle into 4

OV TVMA (BRI
with the Front Mounting Plate-A

F3dA

BRUSHLESS MOTOR FOR F3A COMPETITION

UrIIvhEeyk
Rear Mounting Plate Set

_ AN ra=2) _
Mna D Silicon Tube
S| ;) /'-5\ L)
=
Mounting holes ” — ? ﬂ @ g g £
dividing a circle into 4 3 o =
R S OSHE —ousmserie——O)- ©
4%4)-M3x0.5 Ql ~ ﬁ g
P.C.D. 50 1 <
RPN Mounting holes L 51 .o
824y -M4x0.7 dividing a circle into 8 U oa D ‘ 88
32 L
M8x1.25 —l 0| p @ < g J
Do T g
Q
M4 57 0 d
M4 Tap ) @ E—H—BRAR
]/\* L] Motor mounting holes
AG D’ <@ 4-¢3 P.C.D. 25
H o[ o
E <
<
L
12 44
28.9 16.1 56 81
45 137

|OMA-4043-1160

E—H—UYIIVEE—F—YAXR/ARV IR |

E H 847 | OMR-4043-165 |OMA-4043-1160
%R (842 mm) Dimensions (mm) N & T W60xH89 %1 2395
FERE mm 137 %2 81.0
B 4 4
v hER mm 28 25
v IhRE mm 45 %3 21
@ B B g 630 390
@ © U—Rig R& mm 110 110
2 U—Rig A& 20.38x15 20.38x15
@ & JRIY0 mm FEEL NEEL
® EREBE Y 37 37
ERER A 80 80
BAER G¥)| A 125 125
2l 102 el EARER A 19 1.9
LEIGEE mQ 13.2 13.2
HEA999YR | uH 189 189
BRAME % _ 92k
KV rpm/V 165 1160
BEH T 3 3
K1 TOVRYOVRERS X2 YOVRNE~E—Y—#&in X3 YVYME~Y YT Mol
| OMA-6030-220
E—F—ARYIR
%R (842 mm) Dimensions (mm) 71 H B BAfL
52 w8 28
I E = g 675
U—Rig RS mm 110
© P.C.D. 4-M3-70 ~l o U—Rig K& ?0.38x9
P.C.D. 4-M3-62 1B
g [[l ]ED & p.cD. aM3541 ] ;;;;ﬂ’ me ﬁ%;“b
®| ERER (39) A 70
RAER (5%) A 90
J— MEFER A | 11710V
-2 70 8 16 30 LEl g mQ 28
75 L@ X ep ez BEA>5o5>Z | uH 27
© © BARE % 8511
®) © KV{E rom/V 220

*EE(U—FR)

46



	P41_cs4
	P42_cs4
	P43_cs4
	P44_cs4
	P45_cs4
	P46_cs4

